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‘Love and Friendship’

Emily Bronte
(1818-1848)

Love is like the wild rose-briar,
Friendship like the holly-tree—
The holly is dark when the rose-briar blooms

But which will bloom most constantly?

The wild rose-briar is sweet in spring,
Its summer blossoms scent the air;
Yet wait till winter comes again

And who will call the wild-briar fair?

Then scorn the silly rose-wreath now
And deck thee with the holly’s sheen,
That when December blights thy brow

He still may leave thy garland green.

Glossary: garland - wreath.
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First encounter

1. Read the poem through twice then look again at the first two lines. What associations
are conjured up by a wild rose and by holly? Jot down your thoughts and then
compare them with those of a partner.

Getting closer to the poem

1. What does the writer tell us about a) the rose b) the holly?

3. Discuss these statements about the message of the poem with a partner. Label them
1-6 in order, with 1 being the best description of the poem’s message.

Love and friendship are different and should not be confused

Friendship is better than love

Friendship is longer lasting than love

Love is fragile but friendship is hardy

Holly’s beauty will outlast that of the wild rose

Friendship can be relied upon but love cannot
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Structure - the way the poem is built

1. The poem is a kind of argument, rather like a lawyer building a logical case. What
are the stages in Bronté’s argument? Look out for words which organise the
argument, such as ‘but’, ‘yet’ and ‘then’.

The words on the page

1. Bronté’s diction is very simple. However, if the poem were to be written today, some
of the words chosen might be different. Consider these words:

Brow @EE
Sheem
BLIGHT
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2. Find a word to replace each of them in the poem:
Yet wait till winter comes again
And who will call the wild-briar ?
Then the rose-wreath now
And thee with the holly’s , @
That when December thy

He still may leave thy garland green.

Inside the poem

1.

The poem takes two plants and compares them throughout the poem to two
emotions. Find out the term that is used to describe a comparison that is carried on
throughout a poem (or for a substantial part of a poem).

. Another poetic technique is used in the last two lines.

What is it?

Thoughts, response, conclusion

1. Is Emily Bronté right? What experiences might have influenced her to come to her

conclusion about love and friendship? Whether you agree with her or not, what is
your response to the poem?
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